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PART A: Vocabulary

Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes each sentence.
Then mark the answer on your answer sheet.

Growing older and more decrepit appeared to be an ---------- and necessary part of being
human.
1) inevitable 2) intangible 3) unforeseecable 4) unsentimental
I don’t really think I’d have the ---------- to finish a marathon!
1) concern 2) candor 3) endurance 4) autonomy
Her marriage started to improve once her husband finally ---------- he had an anger
problem and bhegan to take counseling.
1) identified 2) emerged 3) hesitated 4) acknowledged
Society is an interdependent system that ---------- widespread cooperation to function.
1) proceeds 2) requires 3) fascinates 4) conveys
Our blue planet is a ---------- . Life depends on water, yet in its natural form, the water in
the oceans will not sustain us because we cannot drink salt water.
1) refuge 2) remedy 3) paradox 4) vacillation
I thought I was buying a/an ---------- native Indian carving, but discovered later that it
was machine-made.
1) genuine 2) definitive 3) secretive 4) artificial
The entrepreneur had a well-deserved reputation for ---------- , having accurately
anticipated many changes unforeseen by established business leaders.
1) modesty 2) hindsight 3) prescience 4) extroversion
Studies of longevity among turtles are sometimes ---------- by the fact that the subjects
live so long that researchers retire before the studies can be completed.
1) stabilized 2) hampered 3) diversified 4) veritied
Kevlar is a ---------- new material which is used for everything from airplane wings, to
bullet-proof vests, to hockey sticks.
1) prescriptive 2) versatile 3) dormant 4) derivative

10- If exploitation of the planet’s resources continues as at present, then the lifestyle we
currently enjoy ---------- the risk of causing significant damage to the world.
1) proposes 2) puts 3) shapes 4) runs
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PART B: Cloze Test
Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best fits

each space. Then mark the correct choice on your answer sheet.

Scientists and philosophers have been grappling with the relationship between
language and thought for centuries. There have always been (11) ---------- that our
picture of the Universe depends on our native tongue. Since the 1960s, however,
(12) —--ommmee- the ascent of thinkers like Noam Chomsky, and a host of cognitive
scientists, (13) ---------- that linguistic differences don’t really matter, (14) ----------
language is a universal human trait, and that our ability to talk to one another owes
more to our shared genetics (15) -----—---—-- . But now the pendulum is beginning to
swing the other way as psychologists re-examine the question.

11- 1) that they argue 2) those who argue
3) an argument by those 4) arguing those who
12- 1) with 2) for 3) by 4) in
13- 1) whose consensus 2) who has the consensus
3) the consensus has been 4) is the consensus
14- 1)a 2) the 3) what 4) that
15- 1) and our cultures vary 2) than to our varying cultures
3) than our cultures that vary 4) as to our varying cultures

PART C: Reading Comprehension

Directions: Read the following three passages and answer the questions by choosing the best

choice (1), (2), (3), or (4). Then mark the correct choice on your answer sheet.

PASSAGE 1:

Tornadoes are rapidly rotating columns of air in contact with the ground; they are
either connected to or are situated underneath a cumuliform cloud above. They are
sometimes visualized as a funnel cloud. The funnel cloud can assume many shapes. It
may appear as dark when silhouetted against a bright, backlit background, or as a
white mass when illuminated from the front. High winds in a tornado can occur
beyond the edge of the visible condensation funnel. Sometimes the funnel is not
visible because it 1s hidden from view by precipitation. When the relative humidity 1s
so low that a funnel cloud is absent, a rotating debris cloud is usually the only visual
evidence that there indeed is a tornado. Waterspouts are tornadoes over water; in them,
a spray ring takes the place of the debris cloud. Dust devils and steam devils are
similar to tornadoes, but are not associated with a cumuliform cloud above and are
usually smaller and weaker than most tornadoes.

Many long-lived tornadoes appear to have similar life cycles. Such tornadoes first
appear as a rotating column of dust on the ground. A funnel cloud then appears to
build downward from the cloud base. When the funnel cloud is nearly vertically
oriented, widest, and 1n contact with the ground, the tornado is most intense. Later in
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16-

18-

19-

20-

its life the tornado condensation funnel narrows and becomes more tilted; however, it
18 not necessarily much less intense at this stage. Finally, the funnel disappears as a
gust front from the parent storm or a neighboring storm upends the tornado and
surrounds it with evaporative cooled air.

The core of a tornado are sometimes imagined as a ---------- A

1) high scattered wind 2) backlit column of air
3) rotating cone-shaped cloud 4) white visible silhouette
The funnel disappears from view ---------- .

1) against a bright background

2) when it illuminates from the front

3) when a spray ring takes the place of the cloud

4) during rainfall and in weather with high humidity

All of the following about dust devils and steam devils are true EXCEPT ---------- :
1) They are connected to a cumuliform cloud

2) They are not as powerful as tornadoes

3) They are small, brief whirlwinds

4) They look like tornadoes

The most powerful tornadoes occur when the rotating column of air ---------- ;
1) surrounds a wide ground area vertically

2) condenses upward to form the widest funnel

3) produces a massive vertical cloud raising forward

4) touches the ground vertically and in its widest form

The word “upends” in the last line can be replaced by ---------- 1
1) changes 2) prevents 3) combines 4) touches
PASSAGE 2:

Forest fires may consume a large part of the forest floor, eliminating beneficial effects
of the organic layer on soil properties. However, the effects of low-temperature fires
(e.g., from controlled burning) are generally less than the effects from hot wildfires.
The most pronounced impact of forest fires on soil properties is the reduction of
infiltration rates due to water repellency. This reduced infiltration not only increases
the amount of overland flow and thus soil erosion, but may further reduce the
availability of soil water for plants, especially in semiarid regions. Water-repellent
soils can develop from hydrophobic substances vaporized during burning of the
surface litter layers. The degree and persistence of these hydrophobic substances
depend not only on the temperatures during the fire but also on the timing, number,
and magnitude of subsequent rainfall events on the burned site (as water repellency
can decrease with time). In addition, drier soils show higher water repellency than
wetter soils, which should be kept in mind considering these effects in different
climate zones.

Measuring the effects of fire on water movement and storage in soils is difficult,
and results from experimental studies concerning the effects of fire on changes in
infiltration rate are gquivocal. The major problem is to determine if small-scale effects
due to hydrophobic substances translate into larger-scale (hillslope and watershed)
behavioral changes. One possibility to explore the effects of forest fire on infiltration is



O amao 438E OYFY u5) b zilgws 30 cwidgeo

21-

22-

to perform infiltration experiments in combination with dye patterns.Water was only
able to infiltrate at few locations within the profile, coincident with local depressions
or plant roots. Thus, the resulting dye pattern shows only a thin staining near the soil
surface and some isolated 'spots' within the soil.

This passage is mainly about ---------- i

1) soil development and properties in fire-prone forest landscapes

2) forest fires and water repellency in different climate zones

3) the effects of fire on water movement and storage in forest soils

4) the role of forest fire in sustainable land and forest management

The most noticeable effect of forest fires, based on given information in the passage, is ---------.
1) the change occurring in the arrangement of soil layers

2) the reduction of the air filtration especially in semiarid regions

3) increase in the magnitude of hydrophobic substances in the soil's surface layer

4) decrease in the soil's ability to allow water movement into and through the soil profile
Strength and persistence of fire-induced soil hydrophobicity are altered due to all of the
following EXCEPT ---------- .

1) the index of heat release 2) the number of fires

3) the degree of soil permeability 4) the rate of subsequent rainfall

The word “equivocal” in paragraph 2 can be substituted by ---------- .

1) definite 2) important 3) unclear 4) measurable
Infiltration experiments in combination with dye patterns were performed to ---------- A
1) explore the exact point of local depressions or roots of plants

2) analyze the impacts of forest fire on infiltration

3) infiltrate a few locations within the profile

4) find the isolated spots within the soil during fire

PASSAGE 3:

Natural disasters are complicated events within which people are subjected to a
multitude of risks and dangers. Every disaster scenario is unique in its own way and
presents new and unusual challenges to victims and rescue emergency personnel alike.
On one hand, each disaster must be evaluated independently of past events in order to
recognize the special features of the situation at hand. In this manner, one avoids the
common mistake of preparing for the last disaster situation as opposed to anticipating
the next one. On the other hand, certain disaster situations do follow general patterns
and develop along similar paths. It 1s vital to appreciate these subtle patterns in order
to provide community planners and allied health professionals with a foundation to
design a comprehensive emergency response plan. A fine balance must be maintained
between learning from the mistakes and lessons of the past, and resisting the
temptation of simply approaching a situation ‘'the way it has always been done'.
Generally speaking, certain disasters lead to certain types of injuries more than
others. This can be an important fact to bear in mind when planning an emergency
response, taking stock of available medical supplies, or estimating the needs of a
community or geographical area. It is crucial, however, to be conscious that injury
types are not exclusive to any one situation. Indeed the sheer scale and complexity of a
natural disaster may lead to many smaller disaster situations; each one with its own
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individual characteristics and challenges. An example of a large scale catastrophe
causing many smaller emergencies situations is a large scale flood which in turn
causes a chemical spill from a water logged factory, a landslide burying several
homes, drinking water reservoir contamination, and the collapse of a downtown
building. As a basis for planning, it is nevertheless useful to consider the types of
injuries the majority of the victims will incur in order to evaluate the immediate needs
of the disaster response team.

The author of this passage ---------- A

1) defines the natural disaster as an event of nature

2) explains the immediate effects of natural disasters

3) highlights the uniqueness of each disaster

4) shows the ways of preparing for disasters

It's stated in the passage that for developing a complete emergency response plan, it's
necessary to ---------- i

1) learn from mistakes of the past as well as prepare ourselves for new challenges
2) create a strong, intimate relationship between planners and health professionals
3) provide community planners to share their experiences from all last disasters
4) evaluate each disaster highly regarding the past scenarios

The word “temptation” in paragraph 1 means ---------- 2

1) matter 2) offer 3) action 4) interest
Contamination of drinking water reservoir is a/an ---------- !

1) type of a large scale disaster

2) problem resulting in a more ditficult condition

3) smaller urgent situation following a large disaster

4) inclusive example collapsing the urban life

To recognize the urgent needs of the disaster response team, it's important---------- a
1) to send the extra medical supplies to endangered areas

2) to anticipate the subtle scale of catastrophe and the number of victims

3) to eliminate the cause of injuries most of people will incur

4) to notice the type of trauma that most victims will experience
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